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Test Instructions

* Check that this question booklet has your correct
details printed on it (eSIS number, name, school name,
class}. If not, write the correct information neatly in the
spaces provided.

*  You are allowed 80 minutes for this test.

There are different types of questions:

Multiple choice

* Each question has four possible answers. Only one is
correct.

* Use only a pencil to shade in the answer bubble © of
your choice.

* If you make a mistake then rub out your answer completely
and shade in the bubble © of your new answer.

Complex multiple choice
® A table is shown with bubbles & in each row.
* Shade in an answer bubble & in each row of the table.

Open response

* Write your answers in the spaces provided within the
test booklet.
* Do not write outside the answer spaces.
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Grade 6 Science

The table shows the average temperature and rainfall for a city.

January | March | May July | September | November

Average temperature (°C) 15 20 25 20 20 15

Average rainfall {mm) 2 5 50 225 200 5

1 Which graph correctly shows the temperature data?

30

25 4

Average Temperature (°C)
Average Temperature (°C)

Jan Mar  May Jul Sep Nov Jan Mar May Jul Sep Nov
Month Menth

Average Temperature (*C)
s w 5 w8

Average Temperature (°C)
o w ] e

i][Il!,NE

Jan  Mar May  Jul ) Sep Nov Jan. | Mar (_May [ _jul
Month Month

O (]

2  Which month had the most rainfall?

O March

O July

O  September
O November

2ag %
6090086863-03 % 3
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Grade 6 Science

The image shows the different layers of the Earth.

— — - crust
E==

mantle

outer core

inner core

3 The layers are shown in a bar diagram.

Which bar shows the thickness and position of each layer?

o ] o |

4  Which of the following is a mangrove ecosystem?
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Grade 6 Science

The picture shows the seasons of the Earth in the northern hemisphere.

aufumn

winter

S5  Which of these help cause the Earth’s seasons?
O tilt of the Earth’s axis
O  shape of the Earth’s orbit

O rotation of the Earth on its axis

O  distance of the Earth from the Sun

6 Which of these will change when the seasons change?
Shade the correct option.
O phases of the moon O day length

Explain your answer.

wags,
6090086863-07 @ /
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Grade 6 Science

Sultan set up a test as shown below.

ice cube

ice cube

cloud does

cloud forms
not form

hot water

’

U— cold water

7  Why does the cloud form only above the hot water?
The air is warmer over the hot water.
Clouds only occur in warm conditions.

The hot water melts the ice to make the cloud.

0000

More water vapour is produced by the hot water.

8  Sultan leaves the bottles in the classroom overnight.
What will he see the next morning?
) Neither bottle will have a cloud.

They will look the same as above.

Both bottles will have a cloud in them.

00O

The cloud will now be in the cold water bottle.

9  Why is the rusting of iron a chemical change?

0

Rusting forms a new material,
Rusting makes the iron stronger.

Rusting happens in the absence of air.

000

Rusting happens when the iron is dissolved in water.
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Grade 6 Science

The rock shows some animal fossils.

{K@gi Y fossil fish
; (i

MR T LA AT

AL ..H.,,\.‘__,,. !
" 7L My g e L
u 4 [ )

fossil clam

fossil snail

fossil crab

10 Which is the newest fossil?
O crab O clam O  snail ) fish

11 How were these fossils formed?
O The buried animals changed into rock.
The animals were trapped between rocks.

Wind blew the animal bones under rocks.

000

Sea waves washed the animals under rocks.

12 Faisal boils a solution of salt and water. He boils the solution until no water is left in the pan.

) ? ? saltwater

What will he see after all the water has evaporated?
O salt was left in the pan

O  the pan has nothing in it

O anew substance has formed in the pan

O asmall cloud has formed above the pan

609008686311 % 11
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Grade 6 Science

Latifa studied the food habits of some animals in her garden.

The table lists her findings.

Animal What does it eat?
owl rat
rat caterpillar
caterpillar plants

13 Which food chain correctly shows the likely energy flow in the garden?

Food chain

plants —» rat—» caterpillar —— owl

rat — plants —» owl — caterpillar

plants ~——» caterpillar —— rat ——» owl

0 00 O

ow| —» rat ——» caterpillar — plants

14 One day Latifa found a snake in the garden.
The snake eats rats but no animal in this garden eats the snake.

Which other animal in this garden is also at the top of the above food chain?

Answer:

15

_>
balloon balloon filled with air

What does the picture tell us about the properties of matter?
O  agas has no mass

O  agas occupies space

O asolid can change to gas

O asolid cannot change shape

6020086863-13 % 13
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Grade 6 Science

A student builds a simple device to remove dangerous objects from the beach.

The device is called a Sand Skimmer.

mesh screen (sieve) pull

The Sand Skimmer

The Sand Skimmer has flat skis on its base and is pulled along the beach by a rope.
Step 1: The sand is scooped up at the front of the skimmer.

Step 2: The sand passes underneath the magnet.

Step 3: The sand is then pushed onto the mesh screen.

Step 4: The sand falls back onto the beach after passing through the mesh screen.

16 What type of separation occurs on the mesh screen of the Sand Skimmer?

filtration
distillation

evaporation

0000

chromatography

17 Which of these objects would collect on the magnet?

Shade one bubble in each row.

Would these objects collect on the magnet? Yes No
aluminium bottle tops (- (.
broken glass a O
iron nails (-] O

18 Why does the Sand Skimmer have skis instead of wheels?

=l
6080086863-15 15
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Grade 6 Science

The Arabian oryx lives in hot dry deserts.

Arabian oryx

19 Which adaptation helps the Arabian oryx live in deserts?

O  sweating alot

O changing body fat into water
) changing the colour of the skin
O

remaining active during the day

20 The Arabian oryx has a white-coloured body coat.

Explain how the white-coloured coat helps the Arabian oryx survive in the desert.

6090086863-17 E‘Z 17
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Grade 6 Science

Planet Days needed to move once around the Sun
Mercury 88
Venus 225
Earth 365
Mars 687

21 Which graph correctly shows the data in the table above?

700

600 -
£, 5004
)
=
‘g 4004
T
2 300
E
=]
Z 200
100
i Mercury Venus  Earth  Mars
Planets
o
700
600
£ 500
<)
=
S 400
E
3 300
E
=
Z 200
100
Mercury Venus Larth Mars
Planets
o

22 What can be worked out from the table?

000O0

Larger planets are further from the Sun.

Number of days

Number of days

Smaller planets move faster around the Sun.

700

&00

500

400

300

200 -

100 4

g Mereury Venus  Farth Mars

Planets
O

700

600

500

400

300

200

100 : . :

U-Tiﬂy " Venus  Larth Mars
Planets
O

The distance between each planet’s orbit is the same.

Planet orbits are longer when further from the Sun.
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Grade 6 Science

23 Many snakes are venomous.

How do snakes use venom? Snake ready to bite

Shade one bubble in each row.

How do snakes use venom? True False
To kill animals for food. () -
To protect themselves from predators. (] (]

24 'The plastic bottles in the picture are full.

One bottle is full of a liquid substance. The other bottle is full of a gas of the same substance.
Both bottles are sealed with a lid.

lid lid
liquid gas
Plastic bottle Plastic bottle
filled with liquid filled with gas

What is the difference between the particles in the liquid and the gas?
O  The particles of the liquid are bigger.
The particles of the liquid are closer together.

The particles of the liquid are smaller.

000

The particles of the liquid are further apart.

LI G
6090086863-21 % 21
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Grade 6 Science

Salemn added one spoonful each of salt, sand, sugar and flour into separate glasses with water.

He stirred each glass.

The table shows the results.
Material added salt sand sugar flour
Beaker after mixing

and stirring
L.

Beaker 1 Beaker 2 Beaker 3 Beaker 4

25 In which beakers have the materials dissolved?

O 1land2
O 1and3
O 2and3
O 2and4

26 What should Salemn keep the same in each beaker to make the experiment fair?

Shade one bubble in each row to select ‘yes’ or ‘no’.

Should this be kept the same in each beaker? Yes No
The amount of water. o o
The colour of each material. () O
The temperature of the water. O o

27 Which of these is a renewable source of energy?

O  coal
O petrol
O sunlight

O natural gas

T
6090086863-23 % 23
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Grade 6 Science

Flamingos are large water birds found near Abu Dhabi Island.

Flamingo Flamingo's beak

28 Which of these is only found in birds?
teeth

scales

feathers

0000

warm blood

29 The sides of a flamingo’s beak contain rows of fine hairs.
Water flows out of the beak through these hairs as the bird feeds.

What is the likely function of these hairs?

30 Which is an irreversible change?
O melting of wax
boiling of water

o
O  baking of bread
o

freezing of water

haly gl ]
6090086863-25 % 25
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Grade 6 Science

ar to a glass of : N
Bushra adds sugar to a glass of water / v \
She stirs the water until all of the sugar dissolves. string
Bushra repeats this process until no more sugar will dissolve in the
water. solution

She pours the sugar solution into a clean glass.

Then, she suspends a string into the solution and places the

solution in a refrigerator.

31 What type of solution did Bushra place in the refrigerator?
Shade the correct bubble.
O Saturated )  Unsaturated

32 What will Bushra see when she takes the glass out of the refrigerator the next day?

C TN\ O @t \

string string
solution solution
)

string
sugar crystal

solution

33 Which of these is the energy source for a motor car?

O  air
O glass
O water
O petrol

et o]
6090086863-27 % 27
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Grade 6 Science

Team L and team M are having a ‘tug of war’.

Each team starts to pull with equal force.

The same length arrows show equal force.

After 5 minutes, team M begins to win the game.

34 How will the forces acting on the teams change as team M begins to win?
(Key: the larger the force, the longer the arrow)

Choose the row with the correct forces.

Team L Team M

——*—ﬁ-

q h

«h——ﬂ.

0 0 0O

—q-

35 What is the force that acts between the children’s hands and the rope?

36 Which of these involves non-contact forces?
kicking a ball
skating on ice

a boy pushing a table

0000

a magnet attracting a nail

.
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Grade 6 Science

IS

s 1N

Khalid ties a magnet to a string and hangs it from a stand.

He brings three objects near the magnet. Khalid records if the

magnet moves.

Object Does the magnet move? Type of movement
iron nail yes moves towards the nail
plastic cup no -

wooden pencil no -

37 Which question is Khalid trying to answer?

38

39

O Which substance is magnetic?

Is plastic good for making cups?

o
O Whydo iron nails rust if left in water?
(-

What happens when a magnet is brought near another magnet?

Which object would show the same result as an iron nail?

3 rubber bar
steel spoon

wax crayon

00O

paper envelope

Which mixture could be separated with a magnet?

O salt and talcum powder

flour and coffee powder

-
O iron nails and iron beads
O

iron nails and sugar grains
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